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SECOND REVISION EXAMINATION - 2025

CLASS:12
MATHENMATICS Reg.No| '
Time : 3.00 Hours - : MARKS : 90
SECTION -A
Notc. ; : .
(i) All questions are compulsory. ; . o 20x1=20

" (ii)Each question carries one mark.

(iii)Choose the most suitable answer from the given four alternatives

if xOyl = ™M xCyd = eﬁ,Al = 7: Zl g = la ml Ay = I ZI, then the values of x and y are respectively,
(1) G2/, p@afls) (2) log (8;/45),10g (8,/A3) ‘
(3) log (82/41),10g (83/8,) Lo(a) eFM/QJ)J e(82/83)

it 3 .
The principal argument of s

-5 . om -3

. X & e
i (1)—‘ (2)—== 3 B)— | (4)?
The number of real numbers in [0,27] satisfying sin* x — 2sin? x + 1is - . » ' g
S A SO A T RS Y. (ol | 5 EUM S S ARG /1
If cot™ 2 and cot™! 3‘are two angles of a triangle, then the third angle is 3
(1) @5 = (3)= - RCLS
If P(x,y) be any pomt on 16x? + 25y% = 400 wnth focn F1(3 0) and F,(—3,0) then PF; + PFZ is -
(1)8 (2) 6 - : - {3) 10 ) (4)12 ] :
If the-distance of the point (1 1 1) from the ongm is half of its dlstance from the planex+y+z+k= 0 then '

L :0;

11.

the values of k' are

(143 2) 6 . R i (3 )"—39 O

The povnt of inflection of the curvey = (x 1)3 is - % 4

wmey e (o, 1) i ) 1 0) @)
Lmear approxlmanon for g(x) =cos xatx = 5 '.s

i R goi) DU ;s TE . L3 !
(1)x+- ' (2)—.x+; ) . (3)x—5 | 7(4)—x-'—; .
l‘(n+2) ¢

_.If r()\ 90thennls i _ SRR R

(1)10 Sl BT A A @9

The mtegratlng factor of the differential equatlon + y= ﬁ'. is-

wE : @< S (@) o e

Let X represent the dlfference between the number of heads and the number of tails obtamed when acoinis .
tossed 7 times. Then the poss1ble values of X are . :

(1)i+2n,i=012..n - : “(2)20-n,i=10,12..n
(3)n=ii=0,12:n A : (4)2i+2n,i=0,12..n "
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12. Wh—ich one of the following statements has :che truth value T ?
(i)' sinx is an even function. :
(i1) Every square matrix is non-singular
(i1i) The product of complex number and its conjugate is purely imaginary
(iv) V5 is an irrational number

xeinu

13, If f(x) = 1N

=-% [f (@) — f(1)], then one of the p'ossible value of ais
(1)3 : (2) 6 " (3)9- (4)5

14. If the planele cRI-A+ ky = 3and7 - (41 +j = uk) = 5 are parallel, then the value of A and y are
(1)3,-2 @12 (3542, 5 @iz -

15. In the case n" roots of unity, 1dent1fy the correct statements

(1) the roots are in G.P
(i1) sum of the roots is zero

(iii)  Product of the roots is (—1)""

(iv)  The roots are lying on a unit circle :
(1) (i) and (ii) only - (2) (i) and (iii) only (3)all - (4) (), (ii) and (iii) only

16.1f p +‘\[c; -and —i4/q are the roots of a polynomial equation with rational coefficients then the least

possible degree of the equation is S . _
(1)2 . @1 @3 (4) 4

17. The domain of secant function and, sec™" x functlon are respectlvely : :

(1) [o,n]\{;} and R\(—1,1). g v (2) Z\(- 1 1) and 0, n’\{ } pe

@) [o, ﬂ]\{f} and {-L1} it @ Z\{—1,1] and 0,m\{%} -
18. The point of contact ofthe tangent y = mx+c¢ and the elhpse - + = =11s |

b ' 2m —b? : SR 2m_ b2 U ( a*m  b?
= ) R el ) (3)-(‘ . @===ce

19. The slant asymptote of f (x) == _z” is

(l)x—i—y‘+ 110 @ ¥r+y_— 11=0 @) x==5 = . @y=x-11

- 20: Which of the followmg is not true ? ?
(1) A Boolean matrix is a real matrlx whose entries are e1ther O orl

0.7)¢ 0

(3) Al 1dent1ty matrices I, are Boolean matrices .- RS e ciia gt

© B IvB 1[ i e e
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(2) The produot [1 :“: :l isa Boolcan matnx
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SECTION-B
Note: (i) Answer any 7 questions, _ ' o7 x2=14

(ii) Question No: 30 is compulsory:

21 1f A'is symmetric, prove that adj A is also symmetric.
22. Simplify ;{59 + = |
‘ 7 _
‘ 1.
23.1f &, B, y are the roofs of the equation x3 + px2 + gx + 1 = 0,find the value onE; in terms of the

~ coefficients. .
24.1f y = 4x + cis a tangent to the circle'xl2 +y?=9findc,
25. Prove that the function f(x) = x? — 2x — 3 is stnctly mcreasmg in (2, 00)
26. The relation between number of words y a person learns i in x hours is given by y = 52\/_ 0<x<9.
- What is the approximate number of words learned when x changes from 1 to 1.1 hour? |
27. Evaluate : [ 2 cos’ xdx

28. The mean and varlance ofa bmomxal variate X are respectlvely 2and 1.5.Find P(X = 1)
29. Let *bedefmedoanby (a*b) - a+b+ab - 7. Is * binary on R? If so, find 3 *( 5)

30. Find the angle between the lines: 4x -3y, z= 0 and7=1+ t(41 + 3})

SECTION - C
‘Note:* (i) Answer any Seven Questions. Nt '_ p. - o <oy PRGN 7x3=21
' (ii) Question No.40 is compulsory ( _ : g~
— 3 2 T 3 -—1 P -14-
3LIfA=[; ¢andB = [ =l ety that (AB) B4 ° |
.J— \,—— / .
. 32, Show that the points 1,— + L—, and — —iare the vertlces of an equ11ateral trlangle

-33.Finda polynom‘ial' equation ‘of minimum degree with rat10na1 coefﬁments, havmg V5 — /3 as a root.

: y 1 (. T T .T
34. Find the value of cos™1 (cos;cos ;.- Ssinzsin ;)

35. With usual notations, in any ti'iangle ABC, prove by vector method that — = —_b—' =i
a7 v 2 e X : o sind As_mB sinc
- 36. Write the Maclaurin series expansion of the functions: - tan‘l.(_x'); -1<x<1
, 3w _ 9w |
| 37. If w(x, y) =xy+ sm( xy), then prove that oy axay

38. Solve the Linear dlfferentlal equatxons cosx-— + y smx = 1

J 5 P 3'9. The.pr(}babﬁlt)ﬂdeﬂsny functlon of X is glven by fx) = {lé’;.e 5 <t"03x > 04‘ Find the value of k.

) dx

bl I 40 Eva'luate’the mtegrals using properties of mtegratmn f sm( 7
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SECTION -D
Answer all questions of the following: ' | 7x5=35
41. a)Find the value of k for which the equations kx — 2y +z = 1,x = 2ky + z = =2,x = 2y + kz = 1
have (i) no solution (ii) unique solution - (iii) infinitely many solution
(OR)

b) Solve tan™! :—E—E = -;—tan"1 x forx > 0,
42.a)f2cosa =x + i and2cosff =y + ;7,.show that
(1) xy _—% = 2isin(a + p) (ii)i;;— f—; = 2isin(ma — nﬁ)
\ ©OR) - |
b)Ifd = 2i +3j — k,b = 31 + 5] + 2k, & = —1 = 2]+ 3k, verify that & x (b x £) = (@.¢)b - (a.b)¢
43, a)T;vo coast guard stations are located 600km apart at points A(0,0) and B(0,600). A diétress signal from
a ship at P is received at slightly dli’fferent times by two stations. It is determined that the ship is 200km
farther from stationA than it is fram station B. Determine the equation of hyperbola that passes through :
the location of the ship. o | ’ o
(OR)
b)Evaluate the lzm 1 (cos x)7 limits, if necessary use I’Hopital Ru]e

44. a)Find the vertex focus ,equation of directrix and length of the latus rectum of the X2 = 2x + 8y +17=0
' (OR) - )
" b)If we blow airinto a balloon of spherical shape at a rate of 1000cm3 per second At what rate the radius

of the baloon changes when the radius is 7cm? Also compute the rate at which the surface area changes

45 a)Find the area of the region bounded by x —axis, the curve y = |cos x|, the lines x = 0 and x = .
- (OR)

b)Solve the differential equations: Exz = % = cot( ) cos( ) y= -E wnen x = 1.

- 46. 2)Suppose a person deposits. 710,000 Indian rupees'in a bank account at-the rate of 5% per annum

compounded contmuously How much money will be in his bank account 18 months later‘7
: (OR) ' '
~ b)To proe that p- (—|q V)= -pV (-:q vr)

- 47. a)Fmd the vectOr parametnc vector non-parametrlc and Cartesnan form of the equatlon of the plane“}vx

‘ passing through the points (- 1,2 ,0),(2,2,—1) and parallel to the stra:ght hne ~ 2";1 i

-1
, _ (OR) '

b)A six sided die is marked ‘1’ on one face, ‘2’ on two of its faces, and ‘3’ on remammg three faces The>: -

die i is roﬁed twice. If X denotes the total score in two throws, -

()  Find the probability mass function " B*.S.u- % & AQ‘V'@‘MSC._PQ
(i) Find the cumulative distribution function Bl | . :
(i) ~ Find P(3 <X <6) (iv)FindP(X 2 4) Ph i §/ Lglo 2
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